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Using The Key Performance Indicators 

10 key performance indicators (KPIs) are used to measure the success of the company. 

 

The indicators are weighted according to their variability, totalling 1,000 at the end of the History. 

 

As time progresses the weighting of each indicator will change, highlighting improvements or deteriorations in that area, 

but the overall total will be the measure by which the ultimate progress of the company is determined. 



Using The Key Performance Indicators 

The weighting for each indicator at the end of a period is based on a comparison with the 

position at the end of the History, and there are two types of comparison. 

 

TREND COMPARISON 

Smoothes the calculations over the time the company has been operating i.e., from period 1 

until the current period, and applies to :- 

Turnover 

Gross Profit to Turnover ratio 

Operating Profit to Turnover ratio 

Capital Employed 

Contract Completion 

Client Satisfaction 

 

SNAPSHOT COMPARISON 

Compares the current indicator to the position at the end of the History, and applies to :- 

Company Value 

Forward Workload 

Forward Margin 

Share Price 
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Clicking on a particular column will reveal how the chosen KPI has been calculated, and also enable an analysis to be 

undertaken of why the indicator has gone up or down each period. 

 

For example, during period 8 the forward workload KPI weighting fell from 114 at the end of period 7 to 102 at the end of period 8. 

 

Clicking on the forward workload data will reveal a detailed analysis of why this has happened. 

 

KEY POINTS 

When clicking on a column click on the data, and not the column header. 
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DEFINITION OF THE KPI 

 

A brief description of the KPI is given at the top of the screen. 
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CALCULATING THE KPI WEIGHTING 

 

How was the KPI weighting of 114 calculated at the end of period 8 ? 

 

The forward workload of the company at the end of the History was 20,831,500. This is the BENCHMARK for future 

calculations, as indicated by the “YES” in the ‘benchmark’ column. 

The forward workload at the end of period 8 was 30,317,150. This was 1.46 times the benchmark level. 

The KPI weighting at the end of period 4 , the benchmark period, is multiplied  by 1.46 to give the KPI weighting of 102 at the 

end period 8 i.e., 70 x  1.46 
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WHY DID THE KPI WEIGHTING FALL DURING PERIOD 8 ? 

 

The forward workload at the end of period 8 was lower than the level at the end of period 7, and hence so was the KPI. 
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FURTHER INFORMATION 

 

The Further information menu option can be used to display even more detailed information. 



The ? Drill down shows the make up of the forward workload job by job. 

The forward workload at the end of period was lower because more work was  

progressed in period 8 (20,920,850) than was won (17,420,470) 
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